Hold-Up Experiment Part 1

Instructions

· Rounds

The experiment consists of 20 rounds.

· Buyer and Supplier

This experiment is for two players, called the Buyer and the Supplier, who represent two companies engaged in an ongoing business relationship.

The Buyer has an opportunity to make an investment that will save him/her £1,500 in the long term. The investment costs the Buyer £500 and is only useful in conjunction with the one Supplier. So the Buyer is potentially £1,000 better off by deciding to invest, provided that he/she continues the business relationship with the Supplier.

The Supplier does not benefit directly from the Buyer's investment. The Supplier does, however, have an opportunity to raise his/her price by £750, knowing that the Buyer has made a net saving of £1,000 and can therefore afford to pay more. So the Supplier is potentially £750 better off and the Buyer potentially £1,000 - £750 = £250 better off, provided that the Buyer decides to keep the same supplier.

The Buyer may instead decide to change suppliers, in which case the Buyer ends up £500 worse off due to the wasted investment and the Supplier ends up £1,000 worse off due to the loss of business from the Buyer.

· Table of Payoffs

The following table summarises the payoffs to both Buyer and Supplier.

	Table of Payoffs 

	Buyer's potential saving is £1,500.
Buyer's investment costs him/her £500.
Supplier can raise price by £750. 

	Buyer's First Decision 
	Supplier's Decision 
	Buyer's Second Decision 
	Buyer's Payoff 
	Supplier's Payoff 

	Do Not Invest 
	(none) 
	(none) 
	£0 
	£0 

	Invest 
	Keep Price 
	(none) 
	£1,000 
	£0 

	Invest 
	Raise Price 
	Keep Supplier 
	£250 
	£750 

	Invest 
	Raise Price 
	Change Supplier 
	£−500 
	£−1,000


· Game Tree 

The following so-called game tree shows the order of the various decisions and their consequences.
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Buyer’s investment costs 500 – only useful for that supplier.

Saves buyer 1500 (net 1000). 

Supplier can raise price by 750.

Supplier losing the Buyer’s business costs him 1000.





· Decision Structure
1. The Buyer decides whether or not to invest.

If the Buyer decides not to invest, then neither the Buyer nor the Supplier have any further decisions to make. The payoffs are £0 to the Buyer and £0 to the Supplier. (The business relationship continues and neither Buyer nor Supplier are any better or worse off than they were.)

2. The Supplier decides whether to keep his/her price the same or raise it.

If the Buyer decides to invest and the Supplier decides to keep his/her price the same, then the Buyer has no further decision to make. The payoffs are £1,000 to the Buyer and £0 to the Supplier. (The business relationship continues. The Buyer benefits from the investment. The supplier is neither better nor worse off then he/she was.)

3. The Buyer decides whether to keep the same supplier or change suppliers.

If the Buyer decides to invest, the Supplier decides to raise his/her price and the Buyer decides to keep the same supplier, the payoffs are £250 to the Buyer and £750 to the Supplier. (The business relationship continues. The Buyer benefits from the investment but some of the benefit is lost in paying the Supplier's higher price. The Supplier benefits from charging a higher price.)

If the Buyer decides to invest, the Supplier decides to raise his/her price and the Buyer decides to change suppliers, the payoffs are £−500 to the Buyer and £−1,000 to the Supplier. (The business relationship does not continue. The Buyer has to pay the cost of the wasted investment. The Supplier has to pay the cost of losing the Buyer's business.)

· Your Role

The computer will tell you whether your role is that of Buyer or Supplier. You will keep the same role throughout the experiment.

· Random Matching

You will be newly randomly matched with one person in the other role in all 20 rounds. Thus, if there are 10 persons the probability of playing against the same person in two consecutive rounds is 0.1.

· Profit

Your profit for each round is equal to your payoff.

Some payoffs are negative and represent losses which will be subtracted from your total profit, whereas positive payoffs will be added.

· Total Profit

At the end of each round, the computer will display your Total Profit, which is the cumulative total of your profits from the current round and all previous rounds.
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Buyer’s investment costs 500 – only useful for that supplier.
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Supplier can raise price by 750.

Supplier losing the Buyer’s business costs him 1000.








